

Date due _____

$\log_a b = c \quad a^c = b$

NO WORK = NO CREDIT!!!.....SHOW ALL WORK!

<p>1. Write in exponent form:</p> <p>a) $\log_3 25 = y$ $3^y = 25$</p> <p>b) $\log_{10} 19 = x$ $10^x = 19$</p> <p>c) $\log_n p = w$ $n^w = p$</p>	<p>2. Write in Logarithmic form:</p> <p>a) $81 = 3^4$ $\log_3 81 = 4$</p> <p>b) $10^{-2} = .01$ $\log_{10} .01 = -2$</p> <p>c) $\sqrt[3]{125} = 5$ $\log_{125} 5 = \frac{1}{3}$</p>	<p>3. Simplify:</p> <p>a) $\log_3 \sqrt{81}$ $\log_3 9^2 = 2$</p> <p>b) $\log_3 \frac{1}{27}$ $\log_3 3^{-3} = -3$</p>										
<p>4. solve for t</p> $3 = \frac{2}{n} \left(\frac{6}{t} - \frac{4n}{7} \right)$ $\frac{3n}{2} = \frac{6}{t} - \frac{4n}{7}$ $\frac{3n}{2} + \frac{4n}{7} = \frac{6}{t}$ $\frac{21n + 8n}{14} = \frac{6}{t}$ $\frac{29n}{14} = \frac{6}{t} \quad \frac{t}{6} = \frac{14}{29n}$ $t = \frac{84}{29n}$	<p>5. Use synthetic division to find:</p> $(x^3 - 6x^2 - 3x + 1) \div (x - 2)$ <table style="margin-left: auto; margin-right: auto;"> <tr><td style="border-right: 1px solid black; padding-right: 5px;">2</td><td style="padding-right: 5px;">1</td><td style="padding-right: 5px;">-6</td><td style="padding-right: 5px;">-3</td><td style="padding-right: 5px;">1</td></tr> <tr><td style="border-right: 1px solid black; padding-right: 5px;"></td><td style="padding-right: 5px;">-4</td><td style="padding-right: 5px;">-11</td><td style="padding-right: 5px;">-21</td><td></td></tr> </table> $x^2 - 4x - 11 - \frac{21}{x-2}$	2	1	-6	-3	1		-4	-11	-21		<p>6. Simplify:</p> $\sqrt{5}\sqrt{2}\sqrt{-5}\sqrt{-2} + \sqrt{3}\sqrt{-9} + 5\sqrt{-8}\sqrt{2} + 6i$ $\sqrt{5}\sqrt{2}i\sqrt{5}i\sqrt{2} + \sqrt{3}i3 + 5i\sqrt{8}\sqrt{2} + 6i$ $-10 + 3\sqrt{3}i + 20i + 6i$ $-10 + 26i + 3\sqrt{3}i$ $-10 + (26 + 3\sqrt{3})i$
2	1	-6	-3	1								
	-4	-11	-21									
<p>7. Solve by completing the square:</p> $4x^2 = -12 + 8x$ $x^2 = -3 + 2x$ $x^2 - 2x + 1 = -3 + 1$ $(x-1)^2 = -2$ $x-1 = \pm i\sqrt{2}$ $x = 1 \pm i\sqrt{2}$	<p>8. Factor:</p> $8c^3x^6 - 27p^3$ $(2cx^2)^3 - (3p)^3$ $(2cx^2 - 3p)(4c^2x^4 + 6cpx^2 + 9p^2)$	<p>9. Simplify:</p> $\left(\frac{2-3\sqrt{24}}{3+2\sqrt{6}} \right) \left(\frac{3-2\sqrt{6}}{3-2\sqrt{6}} \right)$ $\frac{6 - 4\sqrt{6} - 9\sqrt{24} + 6\sqrt{24}\sqrt{6}}{9 - 4 \cdot 6}$ $\frac{6 - 4\sqrt{6} - 18\sqrt{6} + 72}{-15} = \frac{78 - 22\sqrt{6}}{-15}$										

10. Use Cramer's rule to solve:

$$\begin{cases} 4x - 3y = 5 \\ 2x - 4y = -3 \end{cases}$$

$$x = \frac{\begin{vmatrix} 5 & -3 \\ -3 & -4 \end{vmatrix}}{\begin{vmatrix} 4 & -3 \\ 2 & -4 \end{vmatrix}} = \frac{9 - 20 - 9}{-16 + 6} = \frac{-29}{-10} = 2.9$$

$$y = \frac{\begin{vmatrix} 4 & 5 \\ 2 & -3 \end{vmatrix}}{\begin{vmatrix} 4 & -3 \\ 2 & -4 \end{vmatrix}} = \frac{-12 - 10}{-16 + 6} = \frac{-22}{-10} = 2.2$$

$(2.9, 2.2)$

11. Solve:

$$\log_2(x+1) - \log_2(x-1) = 1$$

$$\log_2\left(\frac{x+1}{x-1}\right) = 1$$

$$2^1 = \left(\frac{x+1}{x-1}\right)$$

$$2(x-1) = x+1$$

$$2x - 2 = x + 1$$

$$\boxed{x = 3}$$

12. Solve:

$$2\log_7 x + \log_7 49 = 5^{\log_5 2}$$

$$\log_7 x^2 + \log_7 7^2 = 2$$

$$\log_7 x^2 + 2 = 2$$

$$\log_7 x^2 = 0$$

$$7^0 = x^2$$

$$1 = x^2$$

$$x = \pm 1$$

$$\boxed{x = 1}$$

13. Simplify:

$$\frac{6z^2 + 18z}{z+3} \cdot \frac{z+3}{z^2 - 9}$$

$$\frac{6z^2 + 18z}{z+3} \cdot \frac{z^2 - 9}{z+3}$$

$$\frac{6z(z+3)}{z+3} \cdot \frac{(z+3)(z-3)}{z+3}$$

$$\boxed{6z(z-3)}$$

14. Simplify:

$$\frac{27x^3 - 8}{9x^2 - 4}$$

$$\frac{(3x-2)(9x^2 + 6x + 4)}{(3x-2)(3x+2)}$$

$$\frac{9x^2 + 6x + 4}{3x+2}$$

$$\boxed{\frac{9x^2 + 6x + 4}{3x+2}}$$

15. Simplify:

$$\frac{x^2 - 9x + 20}{x^2 - 2x - 8}$$

$$\frac{(x-5)(x-4)}{(x-4)(x+2)}$$

$$\frac{x-5}{x+2}$$

$$\boxed{\frac{x-5}{x+2}}$$

16. Simplify:

$$\frac{-1(x^2 - x - 12)}{2-x} \cdot \frac{x-4}{9-x^2} \cdot \frac{x+3}{x^2 - 5x + 6}$$

$$\frac{-1(x-4)(x+3)}{2-x} \cdot \frac{x-4}{(3+x)(3-x)} \cdot \frac{x+3}{(x-3)(x-2)}$$

$$\boxed{\frac{x-4}{-(x-3)^2}}$$

17. Simplify:

$$\frac{x^2 - 25}{x^3 + 216} \div \frac{x+5}{x+6}$$

$$\frac{(x+5)(x-5)}{(x+6)(x^2 - 6x + 36)} \cdot \frac{(x+6)}{(x+5)}$$

$$\boxed{\frac{(x-5)}{x^2 - 6x + 36}}$$

$$n(n+1)(2n+1)$$

$$18. \sum_{i=1}^{100} (5i^2 - 3i + 4) =$$

$$5 \frac{(100)(101)(201)}{6} - 3 \frac{(100)(101)}{2} + 4(100)$$

$$1691750 - 15150 + 400$$

$$1,677,000$$

$$1,677,000$$